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101|R#A7 L 553 225 328 Kg |EE 1,944 161 | 2,160 270
102|357 L 2,247 2,247 Kg BIE 1,593 555
111|&EEF £ 197 195| Kg |EE 432 BERE 1,998 540
113|RAV S 516 7 509| Kg |EE 1,404 378|fE 2,484 540
114|B5EFE 311 26 285 Kg |ERE 864 BERE - 8E 2,970 324
15[ 1= 1 1 Kg FfE 3,780 2,700
117[1E 238 28 210 Kg |EE 2,160 54| 3,996 540
121|rblE &€ 68 12 56| Kg |EE 864 702|FfE 864 756
134[#= = 662 218 444 Kg |BB - EE 2,400 1,300| & 2,376 216
140(5 I 25 25| Kg I35 36,720 11,880
147|E2 O 49 49| Kg |EE 19,440 2,700 |87 - dhid 16,200 6,000
168|BIEH AL H 350 350 Kg BERE 2,484 540
201|{Lb L 606 606| Kg B - T 468 126
203|/hé L 226 226| Kg 3= 432 54
205|585 L 467 467| Kg = 540 143
206| = 1F 610 610| Kg 5 562 216
207| = AE 32 32| Kg sl 716

208| Mo % 460 460| Kg T 1,944 594
2094 B & LA 680 240 440 Keg |= 405 =yl 994 540
210{1F AL 558 498 60| Kg |EIH 4,050 663| &5 2,295 1,755
212|&5E.3 Y 232 232| Kg =40 3,035 1,728
251|< £ <3 268 258 10 Kg [EI& 2,408 2,300|/% 3,780
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252|LWAEXECA 103 103 Kg |EA 1,512 648

254|EDT2ELCAH 636 128 508| Kg |FA 1,091 659 [H#E 2,052 1,080
303[A 27z 45 9 36| Kg |&H 576 B 900 259
306|L e k) 47 47| Kg i 1,080 756
3191 h o 200 200 Kg FNN - 2% 1,620 945
3321 WA =EF 227 2271 Kg 2Pl 2,052 1,566
35411FxE<Y 50 20 30| Kg |FFE 1,188 I 1,296

355(mp Y 122 122] Kg —&E-4E 2,160 600
356(L L& 30 30 Kg SER 1,512 864
357|7RE 9 9] Kg FEE 10,800 945
401|H W 29 29 Kg Iz & 2,052 1,728
4025 5 &E 25 25 Kg H[E 5,508 3,672
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RN L 20 20| Kg F 1,550

AEBRA AT 742 742 Kg 3 3,600 1,250
BRECEZV 54 54| Kg & 1,740 1,728
TRER 20 20l Kg JtF 972

BRI 186 186| Kg ome - M 2,650 1,880
B 12 12| Kg JiF 1,050

RS S 525 525| Kg F 1,250
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70110 BA 11,755 8,988 2,767 Kg |EE 3,456 863|xE 4,352 1,296
704|LWb LET 20 201 Kg & 1,156
710(2 2 AT 7 T Kg Ko 799
755(Fd L 10 10 Kg B 1,274
56| £ 9 14 14] Kg Ko 1,080
7611 b BHAEL 11 11 Kg EE 2,700 2,340
801 [3BAT = 1S 122 122 Kg FE-mA 1,728 1,134
802 1 80 80| Kg 2Dzl 1,836 1,350
805 = 1E 262 262 Kg bF 1,274 583
810|BAKTF 105 1051 Kg JbiF 3,480 1,674

1/1




